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HOMEWORK???

~ Worksheet - Credit Cards and Store Promotions.pdf
h 3 3 Build Your Skills Detailed Solutions

Page 124 Questions #1 - 7,9

6. Brian wants to purchase a new relrigerator. A store offers a deferred
payment plan of $1099.99 with a delivery charge of $40.00 and an
administration charge of $60.00, both to be paid at the time of sale. He has
two years to pay for his purchase without any interest accruing. If the cash
price of the fridge is $720.00 plus the delivery charge, how much interest is

[~ .

he actually paying with the deferred payment plan?

Defund Coth
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4. Phil received a credit card statement dated August 1, on which he owed
$505.50. He paid $100.00 before the payment due date.

a) He is charged mterest at a rate of 18.90% on his unpaid balance. How

much interest will he pay if he takes until August 21 to pay the balance
and he makes no other purchases using the credit card?

b) 1f instead Phil makes one purchase of $160.40 on August 16 and makes
no other purchases that month, how much will he owe as of August 21?
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_Notes - Loans.pdf

Y
So You Wanna Borrow Some Money...BANK!!!

loan: money that is line of credit: an approved overdraft protection: an
borrowed for a specific term, loan amount that you can agreement with a bank that

to be paid back with interest draw on as needed, with allows you to withdraw
"“."‘“r“za."‘;“ perlog. ﬂﬂe money used . than you have init, upto a
time required to pay bac ) e speciﬁed amount

a loan - nas a creditimit - if you go over the overdraft, the
- interest is calculated from bank will charge a non-sufficient
the start date to the end date funds fee ($20 - $50).

*** Many times the interest rate is based upon the Bank of Canada's "Prime" rate, which changes periodically.
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So You Want Some Quick Cash...Payday Loan???

payday loan: a small,
short-term loan with a
high interest rate intended
to cover the borrower’s
expenses until their next
pay day

- interest is calculated daily.

Example 1 /j: = p@’b N

A payday loan store charged Matt $40.00 interest on a $350.00 loan. Matt paid
back the total amount of $390.00 after 10 days\o> //r
(< ¢&

a) What was the daily interest rate for this loan? ‘e

b) What was the annual interest rate for this loan? 40
7,

P Gl

Calculate part b) first, then calculate part ). a) Calculate the daily interest rate by dividing the annual interest

b) Calculate the annual interest rate first using the simple interest rate by 365.

formula, where t is given in years.

[=Prt

r=417.1 + 365
r= 114

$40.00 = $350.00 x r x (10 + 365)

$40.00 = 9.58904r

$40.00 + 9.58004 = r
: b) —
417101 =1 4680358+ 1 8- 365 )
Convert the interest rate from a decimal to a percent. 4. 171423571
r=4.17101 x 100 HI"IE-*].E??. 142 !
r=417.1 Ar=
The annual interest rate is 417.1%. ] ‘\,\ 1. 142537143

The daily interest rate is 1.14%.
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DISCUSS THE IDEAS

PERSONAL LOANS

A loan can be secured or unsecured. A secured loan means that the borrower
has promised to turn over to the lender a particular item of value, such as a car
or property, if they default, or fail to repay, the principal and interest on the
loan. The item of value is collateral. An unsecured loan is a loan for which the
lender considers you a low risk, so there is no need for collateral.

The interest rate on secured loans is usually lower than the interest rate on
unsecured loans.

1. Suggest reasons why the interest rate would be lower on a secured loan.

2. Do you think the amount of money a financial institution would lend
someone would change depending on what was being used to secure it?
Why or why not?

3. What assets might people generally use as collateral to secure a loan?

January 12, 2016

default; failure to repay a
loan

collateral: an item of value
pledged by a borrower to
secure a loan

asset: an item of economic
value owned by an individual
that could be converted to
cash

SOLUTION

1. The interest rate on a secured loan is usually 2. A financial institution will usually lend money
lower than the interest rate on an unsecured based on the value of the collateral. If the
loan because, if you default on the loan, the collateral is a car, the value of the loan will be
lender will be compensated by claiming the lower than if the collateral were a house. This
collateral. is because the lender wants to be able to get

back the value of the money they lent out if

you default on the loan.

3. Some assets used as collateral include: vehicles,
real estate, cash bank accounts, investments,

insurance policies, and valuables such as

jewellery.
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MONTHLY PAYMENT PER $100000 BORROWED LOANS: Monthly Payments...

(INTEREST COMPOUNDED MONTHLY)

Intarest rate (%) | Term in years EXRHJ.U le 2
1 2 3 4 5
200 G469 4795 2908 7713|1797 Jean-Paul borrows $2500.00 to purchase a laptop computer and software. He
355 B8 [4300  [2919  |2224 | 188 Kes <onal loan from his credit union at | rate of 6.25% with
0 v Ton Tmm Tan Tan takes out a personal loan from his credit union at an annual rate of 6.25% wi
375 8504 | 4331 2941 2247 1830 an amortization period of 2 years. Use the personal loan payment cal ‘
400 8515|4347  |2952  |2258  |1842 table on the next page to help you answer the questions below.
475 B526  |435%  [2964  |7269 | 1853 ] S
150 5,38 1355 2975 7280 1854 a) What is Jean-Paul’s monthly payment? (/ ¢ , L{? X pols 2
175 B529_ |4376 |2986_ |7782 | 1878 .
0 o Tme Thmo Tmn Tem b) Calculate the total amount he will pay over the 2 years.
575 8572 4398 008 21 1899 ¢) Calculate the finance charge on the loan.
E50 B584  [4400  [3020  |2326  |1910
575 B595  |4821  |3031  |7337 | 18w SOLUTION
500 B0 |42 _ |04 2349|193
ggg ggfﬂ ij’;: ) 3;22 ;33? EZ? a) Using the personal loan payment calculator table, first look up the
Py P TR T P E e Pryram— Frys interest rate of 6.25% in the left-hand column, then move across that
700 8653 [4477  [3088  |2385  [1980 row to the column showing the monthly payments for 2 years. The
775 BGG4__ |4489  [3093  |206 | 1992 :
payment is $44.43 a month for a loan of $1000.00.
750 B676__ [4500 |31 |21 |7004 /
178 LI L 1 o B To calculate the monthly payment for a loan of $2500.00, divide the
800 B [4523  [3134 |4l |28 ’ _
BZ5 8710 1534|3145 @53 |2 amount of the loan by $1000.00, then multiply by $44.43.
B50 Bi72 4586|3157 |m@5  |w0m
85 B34 |45/ |3168 |07 |2084 $2500.00 + $1000.00 x 54443 = §111.08
800 B745_ |4568  |3180  |7489  |7078 ) . .
975 a757 |80 |mez oo |zse Jean-Paul’s monthly payment is approximately $111.08.
550 768 [4501  [3208  |%502  |2100 _
o T Tmm e Tma Tan b) He will pay $111.08 a month for 2 years, or 24 months.
10.00 g8 |4604  [3227  |7536  |2125 .
5= G

075 won e Tww man o $111.08 x 24 months = $2665.92
1050 BEIS [4638  [3250  |2560  |2149 . = o
T TR VTY T P P pry Jean-Paul will pay a total of $2665.92 over the 2 years.
11.00 2099 A6 B1 2274 pIS 174 . .

dd . d3x2, 5 ¢) The finance charge is the difference between the amount borrowed and

L L]
111.875 the total amount to be repaid.
111.88+]12+2
' PEES, 97 $2665.92 — $2500.00 = $165.92
L]
- d Te /i H. N
Ans—23688 165, 97 The finance charge on the loan will be $165.92 .
L]
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samething to remember!!!

« Never pay off credit card debts by only paying
minimum payments.

- Always pay off the balance of your credit card
each month to avoid interest.

« Be careful to check special offers because they
could cost you more money.

+ Decide whether you can wait to purchase an
item in order to avoid borrowing.

« Never take out a payday loan.
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HOMEWORK...

Page 135: #1-7

Worksheet - Loans.pdf

i

u

3.4 Build your Skills Detailed Solutions.pdf



Untitled.notebook January 12, 2016

Ready for the test...next Tuesday!

REFLECT ON YOUR LEARNING
FINANCIAL SERVICES

Now that you have finished this chapter you should be able to:

describe banking options and discuss their advantages and disadvantages;

solve simple interest problems;

solve compound interest problems;

use the Rule of 72 to estimate the time needed for an investment to double:

o o o a 4a

describe different credit options, including bank and store credit cards,
personal loans, lines of credit, and overdrafts;

solve problems that involve credit cards;
solve problems that involve loans;

solve problems that involve sales promotions; and

o o o 4d

make informed decisions related to the use of credit.

Review Questions...

o Page 138: #1 - 10 \_%Review-FinanciaI Services.pdf

Chapter 3 Financial Services Practice Your New SKkills Solutions.pdf
D

®*  Chapter 3 Sample Test.pdf
®
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Section 3.3 Credits Cards and Store Promotions, Build Your Skills, p1 71-173
Student Resource p124—126

Build Your New Skills

1. a) Calculate the interest on the unpaid balance.

I=Prt

1=13$345.67 x 0.20 x (30 + 365)

I=$5.68

Calculate 5% of the unpaid balance plus interest.

($345.67 + $5.68) x 0.05 =$17.57

This is more than $10.00, so the minimum payment is $17.57.
b) Calculate the interest on the unpaid balance.

I1=Prt

I=13$55.75%0.18 x (31 +365)

I1=15$0.85

Calculate 5% of the unpaid balance plus interest.

($55.75 + $0.85) x 0.05 = $2.83

This is less than $10.00, so the minimum payment is $10.00.

2.1=Prt

$16.22 =$1032.05 x r x (31 + 365)
16.22 = 87.65r

16.22 +87.65=r

0.185~=r

Convert the interest rate to a percentage.
0.185 % 100 =18.5

The interest rate is 18.5% per annum.

3.1="Prt

$7.75 =P x0.2150 x (19 = 365)

7.75=0.01119P

7.75+0.01119=P

692.58 = P

The unpaid balance on Sanaa’s credit card was $692.58.

4. a) Unpaid balance = $505.50 — $100.00

Unpaid balance = $405.50

1= Prt

1=13%405.50 x 0.1890 x (21 + 365)

I=%4.41

b) Phil will owe the interest on the unpaid balance plus the interest on the new purchase plus
the unpaid balance.

Calculate the interest on the new purchase (daily interest over 6 days).
I=Prt

1=13%160.40 x 0.1890 x (6 + 365)

1=15$0.50

Add the two interest amounts plus the unpaid balance.

$4.41 + $0.50 + $405.50 = $410.41

As of August 21, Phil will owe $410.40.





5. a) Days in August=31-10
Days in August =21 days

Days in September = 28 days
Total days = 49 days

b) I = Prt

1=13%300.00 x 0.255 x (49 + 365)
1=1%$10.27

c)A=P+1

A=2$300.00 + $10.27
A=3310.27

6. Calculate the total cost of the refrigerator on the deferred payment plan:
$1099.99 + $40.00 + $60.00 = $1199.99

Subtract the cash price plus delivery from the total deferred payment plan price.
$1199.99 — ($729.99 + $40.00) = $430.00

Brian will pay $430.00 in interest if he pays using the deferred payment plan.

7. Calculate the cost of each payment option.

Option 1:

$895.99 x 1.12 =$1003.51

Option 2:

6 x $190.00 = $1140.00

Option 3:

1= Prt

I1=1%1003.51 x 0.195 x (15 + 365)

1=$8.04

total cost = $1003.51 + $8.04

total cost = $1011.55

Option 1 is the least expensive, so if Jack can afford it, he should pay cash. If he does not
have the cash on hand, he should use his credit card and pay off the balance as soon as
possible.

8. a) Students will need to find an online credit card minimum payment calculator. They can
use the one they found for Activity 3.8 (p. 121 of this resource).

Students can use the calculator to find that it will take Guy 1 year and 3 months (15 months)
to pay off his debt.

b) Students will need to use the online credit card minimum payment calculator to enter the
information for what Guy owes, the annual interest rate, and the fixed payment into the
appropriate cells. Students should use Option C: fixed payment. The minimum payment is
not required for this question. The information students enter into the credit card calculator
should look like this:

Credit Card Balance: $1533.26

Annual Interest Rate: 18%

Option C: Fixed Monthly

Payment: $120.00

Guy will pay $181.81 in interest.

9. a) Calculate Pasha’s purchases.

$78.85 + $62.34 + $345.55 + $42.50 + $68.76 + $25.00 + $25.00 = $648.00





b) Interest is calculated over 31 days.

c¢) Calculate Pasha’s unpaid balance by subtracting his payment from his previous balance.
$245.86 — $100.00 = $145.86

d) Calculate the interest on his unpaid balance.

I=Prt

I=13%145.86 x 0.195 x (31 + 365)

1=32.42

¢) New balance = $145.86 + $648.00 + $2.42

New balance = $796.28

f) Calculate 5.0% of the new balance.

$796.28 x 0.05 = $39.81

This is greater than $10.00, so Pasha’s minimum payment is $39.81.

g) Calculate his credit still available by subtracting his new balance from his credit limit.
$3500.00 — $796.28 = $2703.72

Extend Your Thinking

10. a) Total cost of the bed:

$675.00 + $35.00 + $50.00 = $760.00
b) i) Simple interest:

I=Prt

1=1%675.00 x 0.19 x 1.0

I1=3$128.25

Total paid = $675.00 + $128.25 + $35.00 + $50.00
Total paid = $888.25

i1) Compound interest:

A=PA+ ™

12

0.1
A = $675.00 (1 + —)

12
A =~ $815.03
Total paid = $815.03 + $35.00 + $50.00
Total paid = $900.03
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Chp. 3: Financial Services...Credit Cards & Store Promotions

BUILD YOUR SKILLS

1. Calculate the interest due on the following credit card balances and
minimum payments (5.00% or $10.00, whichever is greater).

a) Unpaid balance: $345.67
Interest rate per annum: 20.00%
Time: 30 days

b) Unpaid balance: $55.75
Interest rate per annum: 18.00%
Time: 31 days

2. Claudine is a teacher at New Brunswick’s Eel Ground First Nation
School. The school combines technology such as interactive whiteboards
with traditional cultural teaching. Before working as a teacher, Claudine
took a course on how to use technology in the classroom. She put the
costs associated with the course on her credit card. She was charged
$16.22 interest on a credit card balance of $1032.05 that she took 31 days
to pay. What is the interest rate on her credit card per annum?

3. Sanaa had an unpaid balance on her credit card that has an interest rate
of 21.50% per annum. It took her 19 days to pay, and she was charged
$7.75 interest. What was the unpaid balance on her card?

4. Phil received a credit card statement dated August 1, on which he owed
$505.50. He paid $100.00 before the payment due date.

a) He is charged interest at a rate of 18.90% on his unpaid balance. How
much interest will he pay if he takes until August 21 to pay the balance
and he makes no other purchases using the credit card?

b) 1f instead Phil makes one purchase of $160.40 on August 16 and makes
no other purchases that month, how much will he owe as of August 21?

5. On August 10, Sharon takes a cash advance of $300.00 on her credit
card. The withdrawal appears on her monthly statement issued August
28. Sharon does not pay off this amount by the due date shown on her
statement. The next monthly statement is issued on September 28.

a) For how many days is interest calculated?

b) If Sharon’s bank charges 25.50% annual interest for cash withdrawals,
starting on the day of the withdrawal, what will she be charged for the
August 10 withdrawal?

©) What is the actual cost of the cash withdrawal, including interest, if
she pays for the purchase by her September statement’s due date?

6. Brian wants to purchase a new refrigerator. A store offers a deferred
payment plan of $1099.99 with a delivery charge of $40.00 and an
administration charge of $60.00, both to be paid at the time of sale. He has
two years to pay for his purchase without any interest accruing. If the cash
price of the fridge is $729.90 plus the delivery charge, how much interest is
he actually paying with the deferred payment plan?

7. Jack is buying a new hybrid bicycle for commuting to work
and bike touring. He has three payment options.

Option 1: Pay cash. The bicycle costs $895.90 plus 12% tax.

Option 2: Use the store’s payment plan of 6 monthly
payments of $100.00 (including tax).

Option 3: Pay using a cash advance on his credit card. He
would be charged interest at an annual rate of 19.5%, and

he expects that it would take him 15 days to pay his credit
card balance.

Calculate the cost of the bicycle using each of the payment

3 : 7 This man is on a bike tour through the Atlantic
options. Which option would you recommend Jack choose?  proyinces. He is taking a break in St. John's, NL.





Bank of Customer Name:
ATLANTIC i
CANADA_ Previous Statement:

Transaction date

Posting date

Activity description

Pasha

999 BBB8 7777 1234
Sep 5, 2011

Aug 5,201

Amount ($)

PREVIOUS STATEMENT BALANCE $245.86
Aug 06 Aug 07 PAYMENT — THANK YOU -$100.00
Aug 09 Aug 10 Econo Foods $78.85
Aug 13 Aug 15 Tu Electric $62.34
Aug 18 Aug 19 Home Comfort $345.55
Aug 22 Aug 24 The Pancake House $42.50
Aug 31 Sep2 Sportinc $68.76
Sep 03 Sep 04 Plaza Gas Bar $25.00
Sep 03 Sep 04 gl:r::tkalasnd White Party $25.00
Payment information Calculating your balance

Minimum Payment Previous Balance $
Payment Due Date Sep 23 | Payments & Credits $
Credit Limit $3500.00 | Purchases $
Available Credit $3500.00 | Cash Advances $
ﬁgs:al Interest 19.50% | Interest $

Other Fees $

NEW BALANCE $

9. Use Pasha’s credit card
statement to calculate the
following:

Extend Your Thinking

a)

b)

c)
d)

e)

g

the total of the purchases for
this month;

the number of days over
which the interest is
calculated;

the unpaid balance;

the interest on the
unpaid balance;

the new balance;

the minimum payment
(5.0% or $10.00, whichever
is greater);

the credit still available.

10.

A department store is having a sale on beds. There is no down payment

and no interest charged if you pay in full within the first 6 months.
Otherwise, interest of 19.00% per annum is charged on the sale price
from the date of purchase. There is a delivery charge of $35.00 and an
administration fee of $50.00 to be paid at the time of purchase.

a) If you buy a new bed for $675.00 and pay the full amount in 5 months,
how much will you pay?

b) If you buy the same bed and pay in full after one year, how much

will you pay?

i) if simple interest is charged?

ii) if compound interest, compounded monthly, is charged?

$10.00
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b) $41040

a) 490 days
b) §10.27
c) $310.27

6. $430.00

5.

Option 2: $1140.00
Option 3: $1011.55

7. Option 1: $1003.51
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9.

i) 5$888.25

b)

d) $2.42

ii) $000.03

e) $706.28

f) $39.81

g) $2703.72
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So You Wanna Borrow Some Money...BANK!!!

loan: money that is
borrowed for a specific term,
to be paid back with interest

amortization period: the
time required to pay back
aloan

- interesl is calculated from
the starl dale to the end date

line of credit: an approved
loan amount that you can
draw on as needed, with
interest charged on the
money used

- has a credit limit.

overdraft protection: an
agreement with a bank that
allows you to withdraw
more money from an account
than you have init,uptoa
specified amount

- if you go over the overdrafl, the
bank will charge a non-sufficien
funds fee (520 - $50).

*** Many limes the inlereslt rale is based upon the Bank of Canada's "Prime" rale, which changes periodically.

default: failure to repay a
loan

collateral: an item of value
pledged by a borrower to
secure a loan

asset: an item of economic
value owned by an individual
that could be converted to
cash

So You Want Some Quick Cash...Payday Loan???

payday loan: a small,
short-term loan with a

high interest rate intended

to cover the borrower's

expenses until their next

pay day

- interest is calculaled daily.

Example 1

a) What was the daily interest rate for this loan?

b) What was the annual interest rate for this loan?

A payday loan store charged Matt $40.00 interest on a $350.00 loan. Matt paid
back the total amount of $390.00 after 10 days.

. LOANS: Monthly Payments...

Example 2

Torm in yaars
I F) J 4 &
300 B4ED 4798 M08 213 1747
1K B4 B1 4309 2819 17 1808
3,50 B4.92 4370 29.30 2238 1814
175 BS.04 435 .41 7247 B30
400 BS15 4347 M57 2758 1842
455 BS.26 1354 2064 2168 1853
450 B5.38 4365 2975 2280 1864
475 549 4376 79,85 7797 18.75
5.00 BSE1 43487 ma7 7303 1847
515 B5.72 413908 J0.08 2314 1899
5.50 B5.B4 410 J0.20 23.28 19.00
5.75 B5.95 4.7 nan 73.37 19.27
600 B80T 4437 047 7349 19.33
6.75 BE.18 4443 3054 2160 1945
6.50 B5.30 A4 b5 J0.Eh 230 1957
B.7% BE.4 44 56 TG 71683 1968
700 BE53 4477 098 2395 19.80
] BE 64 44 59 099 .06 1997
] BE.76 4500 1 M08 20,04
175 BEA7 450 N2 2429 2016
g.00 BE.99 45373 .34 4.0 20.78
B2 a1 45,34 .45 453 20.40
BSD 2122 4546 ns7 2455 2052
BTG 734 4557 I.68 kLR 2064
.00 H7.45 4568 3180 M8 k]
925 #4157 45,80 kil 7] 7500 2088
950 H7 68 450 oz b 2100
am a780 45.03 s 5.4 202
10.00 a747 4614 un 1536 M35
10.25 AB.03 L e 1548 nar
10E) HE1S 4638 250 T5ED .49
1075 8B.27 46.49 ki w72 ME2
11.00 8B.38 4BE1 T4 | 2585 4

a) What is Jean-Paul's monthly payment?

c) Calculate the finance charge on the loan.

Jean-Paul borrows $2500.00 1o purchase a laptop computer and software. He
takes out a personal loan from his credit union at an annual rate of 6.25% with
an amortization period of 2 years. Use the personal loan payment calculator
table on the next page to help you answer the questions below,

b) Calculate the total amount he will pay over the 2 years
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Section 3.4 Personal Loans, Lines of Credits, and Overdrafts, Build Your Skills, p177-180
Student Resource p135-136

Build Your Skills

For questions 1 to 3, use the personal loan payment calculator table (Blackline Master 3.5, p.
195) to determine the monthly payment.

1. a) Monthly payment = $31.11

Total amount paid = $31.11/month x 36 months

Total amount paid = $1119.96

Finance charge = $1119.96 — $1000.00

Finance charge = $119.96

b) Monthly payment = $24.18 per $1000.00 borrowed
Monthly payment = $24.18 x ($2500.00 + $1000.00)
Monthly payment = $60.45

Total amount paid = $60.45/month x 48 months

Total amount paid = $2901.60

Finance charge = $2901.60 — $2500.00

Finance charge = $401.60

¢) Monthly payment = $20.76 per $1000.00 borrowed
Monthly payment = $20.76 x ($3000.00 +~ $1000.00)
Monthly payment = $62.28

Total amount paid = $62.28/month x 60 months

Total amount paid = $3736.80

Finance charge = $3736.80 — $3000.00

Finance charge = $736.80

2.a) $1565.45 — $500.00 = $1065.45

Amy will have to borrow $1065.45.

b) Monthly payment = $87.10 per $1000.00 borrowed
Monthly payment = $87.10 x ($1065.45 +~ $1000.00)
Monthly payment = $92.80

Amy’s monthly payment will be $92.80.

c) Calculate Amy’s total loan payment.

$92.80/month x 12 months = $1113.60

Amy’s loan will cost her $1113.60.

d) Calculate the cost of the computer, which will be the sum of the loan payments plus down
payment.

$1113.60 + $500.00 = $1613.60

Amy will pay $1613.60 for the computer.

3. Calculate the cost of each payment option.
Option 1: Borrowing from the bank.

Monthly payment = $43.87 per $1000.00 borrowed
Monthly payment = $43.87 x ($8500.00 + $1000.00)
Monthly payment = $372.90

Cost = $372.90/month x 24 months

Cost = $8949.60





Advantage: Cindy can afford the monthly payments.

Disadvantage: The total paid is $449.60 more than the cash price of the snowmobile.
Option 2: Credit card.

Calculate the interest, 22.5% of $8500.00.

0.225 % $8500.00 = $1912.50

Cost = $8500.00 + $1912.50

Cost=$10412.50

If she pays her credit card balance in 1 year, the snow machine will cost her approximately
$10 412.50.

Calculate the minimum payment for the first month.

$8500.00 x 0.05 = $425.00

Advantage: If she can pay off her credit card quickly, this might be a good option, especially
if she is offered air travel rewards or some other type of reward. But it looks like Cindy will
not be able to afford to do this.

Disadvantages: She does not have the cash to pay off her purchase to avoid interest charges.
Her first minimum payment will be $425.00, which she cannot afford. The total cost of the
snow machine is significantly higher than options 1 or 3.

She should avoid this option.

Option 3: Line of credit.

Monthly payment = $43.65 per $1000.00 borrowed

Monthly payment = $43.65 x ($8500.00 + $1000.00)

Monthly payment = $371.03

Cost = $371.03/month x 24 months

Cost = $8904.72

Advantage: The line of credit option gives her flexibility and she doesn’t have to apply again
for a new loan if she wants one at a later date.

This is the least expensive option.

Disadvantage: The total paid is $404.72 more than the cash price of the snow machine.

4. Toby will have to pay the returned-cheque fee twice.
Fees =2 x $25.00

Fees = $50.00

Toby will pay $50.00 in charges for his NSF cheques.

5. a) $560.00 — $500.00 = $60.00
If he takes the payday loan, Ramon will pay $60.00 interest.
b) Calculate the daily interest rate.
1= Prt

$60.00 = $500.00 x r x 10

$60.00 = ($5000.00)r

$60.00 +~ $5000.00 = r

0.012=r

Convert to a percent.

0.012 x 100 = 1.2% per day
Calculate the annual interest rate.
1.2 x 365 = 438% per year

6. An overdraft occurs when you withdraw more than you have in your account. You are
charged a fee for being overdrawn, and your bank will not make any payments which you





cannot cover. You can get overdraft protection, which means that the bank will pay for your
overdrawn withdrawals, but you must still pay a fee.

A line of credit is a negotiated loan with your bank, which allows you to withdraw funds up
to an agreed-upon limit. You pay interest until these funds are repaid. Unlike an overdraft, a
fee is not charged to withdraw funds from a line of credit.

When choosing between an overdraft and a line of credit, there are advantages and
disadvantages to both. An overdraft is inexpensive or free to put in place, and is easily and
quickly arranged. However, you might be charged an interest rate higher than that on a line of
credit. A secured line of credit will often offer a better interest rate, but it also offers you the
opportunity to spend money that you don’t have. Because a line of credit offers a better
interest rate, it is probably the better option.

Extend Your Thinking

7. a) Calculate the monthly payment for each option.

Option 1: $300.00 a month

Option 2:

Monthly payment = $87.22 per $1000.00 borrowed

Monthly payment = $87.22 x ($3842.00 +~ $1000.00)

Monthly payment = $335.10

Option 3: $300.00 a month

b) Calculate the total cost for each option.

Option 1:

Cost = down payment + (12 x monthly payment) + administration fee

Cost = $500.00 + ($300.00 x 12) + $25.00

Cost = $4125.00

Option 2:

Cost = 12 x monthly payment

Cost =12 x $335.10

Cost = $4021.20

Option 3:

Cost = $3842.00

c¢) Option 1: He can buy it immediately and doesn’t have to apply for a loan. It is the most
expensive way.

Option 2: This is cheaper than option 1 and he can get the kayak right away. He will need to
get a loan.

Option 3: This is the cheapest way, but Josh will have to wait to buy the kayak.





SMART Notebook


Chp. 3: Financial Services...Loans

BUILD YOUR SKILLS ‘

For questions 1 to 3, you can use the personal loan payment calculator table
on p. 132 or an online monthly payment calculator.

3.4 PERSONAL LOANS, LINES OF CREDIT,

AND OVERDRAFTS

BUILD YOUR SKILLS, PAGE 135

1. Calculate the monthly payment, the total amount paid, and the finance

charge for each of the following loans.

Explain the difference between an overdraft and a line of credit. Which of
these is the better loan option?

Extend Your Thinking

Josh wants to buy a new kayak. He sees one he likes on sale for
$3842.00 cash. He does not have the cash to buy the kayak right away so
he must consider his options.

Option 1: The kayak store has a plan where Josh can pay $500.00 down
and $300.00 a month for 1 year, plus an administration fee of $25.00.

Option 2: Josh could also borrow the money from his bank at 8.50% per
annum for a term of 1 year, and then pay cash for the kayak.

Option 3: Josh could save $300.00 a month until he has enough cash to
buy the kayak.

a) What would the monthly payment be for each option? Use the personal

loan payment calculator on p. 132 to calculate the payments.
b) Calculate the total cost for each option.

¢) Why might Josh choose each of these options?

1. a) Monthly payment = $31.11
a) $1000.00 at 7.50% per annum for 3 years; Total amount paid = $1119.96
b) $2500.00 at 7.50% per annum for 4 years; Finance charge = $119.06
c) $3000.00 at 9.00% per annum for 5 years. b) Monthly payment = $60.45
. Amy would like to buy a computer. The one she wants costs ll:—?;zlni?;l;;[ pz:d?s:glzgglﬁo
$1565.45 including taxes. Amy has saved $500.00 for a down payment. & ’
a) How much will Amy have to borrow to buy her computer? a) Monthly payment = $62.28
_ o _ Total amount paid = $3736.80
b) She can get a loan at 8.25% per annum with an amortization period of Finance charge = $736.80
1 year. What will be her monthly payment?
¢) What will be the total she pays for her loan? 2. a) $106545
d) How much will the computer cost Amy? b) $92.80
Cindy has a snow machine touring company based out of Labrador City. o $1113.60
She wants to purchase a new snow machine. Cindy has no available
cash for a down payment. She has estimated that she can afford to pay d $1613.60
no m‘?re than S4OG_OQ a month for the nm-(} 2 years. The §n0\vv machine 3. Option 1: $8040.60
dealer offers _the machine she wants for $8500.00 cash. Cindy has three Option 2: $10 412.50
payment options. Option 3: $8904.72
- Sh t a loan from her bank at 5.00% per er 2 years,
an:l ;E:; chsli e o frer bar PEF AL OveD 2 yedts Advantages/disadvantages will vary.
+  She can pay using her credit card, which charges an annual interest rate 4. $50.00
of 22.50%. Calculate the minimum payment for the first month (5% of 5. a) $60.00
the balance).
+  She can get a line of credit at 4.50% per annum that she plans to pay b) 1.2% per day; 438% per year
off over 2 years.
Calculate the total cost of each of Cindy’s options. Describe one advantage 6. An ovel_rLdraf.[ O‘:}‘;MS when you Withdr@\v
and one disadvantage to each of these three options. more Lthan you have In your account. You are
charged a fee for being overdrawn, and your
bank will not make any payments which
you cannot cover. You can get overdraft
4. Toby wrote two cheques that were returned because he did not have protection, which means l_hat the bank will
enough money in his account to cover them. The cheques were for pay for _}‘il‘mr ovefrdrawn withdrawals, but you
$50.00 and $150.00. His bank charges $25.00 for each returned cheque. must sl pay a lee.
How much did Toby have to pay in fees? A line of credit is a negotiated loan with your
Ramon needs $500.00 as soon as possible to cover his student loan bank which allows you to.wnhde' funds
) : up to an agreed-upon limit. You pay interest
payments. He goes to a lending store for a payday loan. The lending until these funds are repaid. Unlike an
store tells him he will have to write a cheque for $560.00 dated 10 days overdraft, a fee is not charged to withdraw
from now. funds from a line of credit.
a) How much will Ramon have to pay in interest if he takes the Answers will vary.
payday loan?
h) Calculate the daily interest rate and the annual interest rate for Extend your thinking
this loan. 7. a) Option 1: $300.00

Option 2: $335.10
Option 3: $300.00

b) Option 1: $4125.00
Option 2: $4021.20
Option 3: $3842.00

¢)  Answers will vary.
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Chapter 3 Financial Services, Practise Your New Skills, p181-183
Student Resource p138—139

1.

| Value | Self service | Full service | Bonus savings
Month 1
Approximate minimum monthly balance: $900.00 (opening balance)
Monthly fee $3.90 $10.90 $24.50 $0
Transaction 8 x $0.50 =$4.00 | $0 $0 16 x $1.25=
charges $20.00
Month 2

Approximate minimum monthly balance: $900.00 plus deposits,

from Month 1 (opening balance)

minus withdrawals and service charges

Monthly fee

$0

$10.90

$24.50

$0

Transaction
charges

8 x $0.50 = $4.00

$0

$0

16 x §1.25=
$20.00

TOTAL

$11.90

$21.80

$49.00

$40.0

2.

Bank card

Online banking

Bank teller

ATM

Cheque

Pay Bills

I

0

0

0

Buy traveller’s
cheques

O

0

Withdraw cash

I

0

Deposit
cheques/cash

0

0

Transfer
money

between
accounts

Purchase items
from store

Deposit
paycheques

Obtain foreign
currency

Check account
balance

3.
I =Prt

$60.00 = $3000.00 x 0.03 x ¢

$60.00 = $90.00¢

$60.00 .
$90.00

It will take % of a year, or 8 months, to earn $60.00 interest.

4.a)I=Prt

1= ($800.00)(0.10)(1)






I=$80.00

The interest to be paid over 1 year is $80.00.
b) Total = principal + interest

Total = $800.00 + $80.00

Total = $880.00

The total amount to be paid back is $880.00.
c¢) Calculate the monthly payment amount.
$880.00 ~ 12 =$73.33

The monthly payments will be $73.33.

5.a)

Period | Value at beginning of period | Interest (I = Prt) Value at end of period

1 $1000.00 $1000.00 x 0.0425 = $42.50 | $1000.00 + $42.50 = $1042.50
2 $1030.00 $1042.50 x 0.0425 = $44.31 | $1042.50 + $44.31 = $1086.81
3 $1060.90 $1086.81 x 0.0425 = $46.19 | $1086.81 + $46.19 =$1133.00

b) Calculate the total interest after 3 years.

I = total value — principal

I=1%1133.00 — $1000.00

1=1%$133.00

The total interest earned after 3 years is $133.00.

6. Use the Rule of 72.

72 + interest rate = time in years

72 +2.00% = 36 years

It will take about 36 years for the investment to double in value.

7.
4=P(1+ %)nt

(2x17)

.045
A = $4000.00 (1 + T)

A =$4000(1.0225)3*
A =~ $8523.40
The investment will be worth $8523.40 after 17 years.

8. a) Calculate the total of Henry’s purchases.

$65.00 + $245.89 + $52.00 + $105.65 + $65.00 + $12.50 = $546.04
b) The unpaid balance is the previous balance minus the payment.
$527.55 - $200.00 = $327.55

c)l=Prt

1=$327.55x0.195 x (31 + 365)

I1=85.42

The interest on the unpaid balance is $5.42.

d) The new balance is the unpaid balance from the previous statement plus the new purchases
and interest.

$327.55 + $546.04 + $5.42 = $879.01

The new balance is $879.01.

e) Calculate 5% of the new balance.

$879.01 x 0.05 = $43.95





The minimum payment for this statement is $43.95.

f) Available credit is equal to the credit limit minus the new balance.
$4500.00 — $879.01 = $3620.99

Henry has $3620.99 in credit available.

9. a) For a loan at 5.00% per annum with an amortization period of 2 years, the monthly
payment is $43.87 per $1000.00 borrowed.

Monthly payment = $43.87 % ($10 500.00 + $1000.00)

Monthly payment = $460.64

Amortization period of 4 years:

Monthly payment = $23.03 per $1000.00 borrowed

Monthly payment = $23.03 x ($10 500.00 +~ $1000.00)

Monthly payment = $241.82

$460.64 — $241.82 = $218.82

The 2-year loan has the higher monthly payment, by $218.51.

b) Calculate the total cost of each option.

2-year loan:

$460.64/month x 24 months = $11 055.36

With an amortization period of 2 years, the total cost of the loan is $11 055.36.
4-year loan:

$241.82/month x 48 months = $11 607.36

With an amortization period of 4 years, the total cost of the loan is $11 607.36.
The 4-year loan has an overall higher cost.

$11 607.36 —$11 055.36 = $552.00

The 4-year loan costs $552.00 more than the 2-year loan.

c¢) Nadine may have to take the 4-year loan because she may not be able to afford the
monthly payments for the 2-year loan.

10. Calculate the total cost of each payment option.
Option 1:

($115.00 x 5) + $25.00 = $600.00
Option 2:

I=Prt

1=13$575.00 x 0.05 x (30 + 365)
I1=1$2.36

Cost = $575.00 + $2.36

Cost = $577.36

Option 3:

Solve for r.

The interest is 1.2% per day.

1.2 x365 =438

The interest is 438% per year.
Convert to a decimal.
r=438+100

r=4.738

Solve for z.

t=30

365





Solve for n.
n =365
Insert the values into the compound interest formula.

4=pP(1+ %)nt

A = $575.00(1 + %)BGSX%)

A =575(1.012)30

A =822.40

Cost = $822.40

Option 2 is the least expensive option, so Joseph should pay using his personal line of credit.
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SAMPLE CHAPTER 3 TEST... Do Not Mark On This Review!!!

Name: Date:

Choose the best response to each of the following questions.
1. Which transaction cannot be made using internet banking?

a) salary payments
b) cash withdrawal

¢) bill payment
d) money transfer

2. Chantal has a part-time job during the school year and works full time during the summer. She has saved
$5000.00 for her college fund. She put it in a savings account which earns interest at 2.50% per annum,
compounded semi-annually. How much interest will she earn after 3 years?

a) $187.50
b) $386.92
¢) $375.00
d) $384.45

3. On April 25, Tan withdraws $1000.00 cash on his credit card. This withdrawal appears on his monthly
statement issued May 2. lan does not pay off this amount until May 13. His credit card company’s simple
interest rate is 20.00% per annum starting on the day of the withdrawal. Calculate the interest he must pay.

a) $6.03
b) $6.58
¢) $10.41
d) $10.96

4. Jasmine has a Value Account at Bank of Atlantic Canada. The bank account offers 10 free self-service
transactions. Additional self-service transactions cost $0.50 each, and teller-assisted transactions cost $1.00
each.
She keeps a record of her transactions in her own record book. In April, she made the following transactions:
+ 6 ATM cash withdrawals from a Bank of Atlantic Canada branch
« ATM deposits for $450.00 and $100.00
« 4 internet bill payments
« Purchase of US traveller’s cheques
How much did Jasmine pay in service fees?

5. If the simple interest is $75.00 on an investment at 2.50% per annum for 3 years, what is the principal?

6. Estimate how long it would take an investment of $2000.00 to be worth $4000.00 at 3.00% per annum,
compounded annually.





7. An investment of $7000.00 is made with interest at 4.50% per annum, compounded annually for 2 years.
Determine the value of the investment at the end of 2 years.

8. The unpaid balance on Saba’s credit card is $205.50 with interest charges of $4.20. If the new charges
total $354.80, what is the minimum payment? The minimum payment is 5% of the new balance or $10.00,
whichever is greater.

9. You need $200.00 right away to pay your cell phone bill. A payday loan company asks you to write a
cheque for $200.00 plus pay a fee of $9.50 up front for each $100.00 borrowed, and you have 5 days to repay
the loan.

a) What does it actually cost you to pay your cell phone bill?

b) What is the annual interest rate for this loan?

10. Marco has found his dream motorcycle at a dealership in Moncton, NB.

The dealer will sell it for $16 450.00 cash or for $470.00 a month for 3 years with a down payment of
$1000.00. Marco can get a loan from his bank at 7.00% for 2 years. He cannot afford to pay the whole
amount in cash, but he does have $1000.00 in savings. He is considering his payment options.

Option 1: Take the dealer’s offer of $470.00 a month with $1000.00 down payment.

Option 2: Borrow $15 450.00 from the bank, add it to his $1000.00 savings, and pay the dealer in cash. His
monthly payment to the bank will be $691.85.

Option 3: Borrow $16 450.00 from the bank, pay the dealer in cash, and keep his $1000.00 in savings. His
monthly payment to the bank will be $736.63.

Marco creates a chart to help him decide which option is best.

Cash Monthly payment (8) | Total paid for the loan ($) | Total paid for the motorcycle ()

Option 1 | $1000.00

Option 2 | $1000.00

Option 3

Complete the table. Discuss the advantages and disadvantages of each option. Which option would you
choose? Explain your choice.





SAMPLE CHAPTER TEST SOLUTIONS

1. b) A cash withdrawal cannot be made through internet banking.
2. b) Chantal earns $386.92 interest in 3 years.

4=P(1+ %)nt

0.0250y %>
A = $5000.00 (1 + )

A = $5000.00(1 + 0.0125)°
A = $5000.00(1.0125)°

A =~ $5386.92

I=4-P

1=3$5386.92 — $5000.00
1=8386.92

3. ¢) lan pays $10.41 interest. He pays interest for 19 days (6 days in April and 13 days in May).
1= Prt

1=13$1000.00 x 0.20 x (19 + 365)

1=1%510.41

4. Jasmine made 12 self-service transactions and 1 full-service transaction. She gets 10 free self-service
transactions, so will be charged for 2 self-service transactions and 1 full-service transaction.

service fees = (2 x $0.50) + $1.00

service fees = $2.00

Jasmine will pay $2.00 in service fees.

5. Convert 2.5% to a decimal by dividing by 100.
2.5+100=0.025
Substitute the known values of the variables into the simple interest formula.
1= Prt
$75.00=P x 0.025 x 3
$75.00=0.075P
$75.00 0.075P
0.075  0.075
$1000.00 = P
The principal is $1000.00.

6. Use the Rule of 72 to estimate how long it will take for an investment to double in value.

72 + interest rate = time in years

72+3=24

It would take approximately 24 years for an investment at 3.00% per annum to double in value.

7.A=P(1+%)nt

0.0450)(1“)

A = $7000.00 <1 + 1

A = $5000.00(1.045)2
A~ $7644.18
The value of the investment after 2 years is $7644.18.





8. Calculate Saba’s new balance.

$205.50 + $4.20 + $354.80 = $564.50

Calculate 5% (0.05) of the new balance.

0.05 x $564.50 = $28.23

This is greater than $10.00, so Saba must pay $28.23.

9. a) You must pay $200.00 plus the fee for each $100.00 borrowed.
cost of loan = $200.00 + (2 x $9.50)
cost of loan = $200.00 + $19.00

cost of loan = $219.00

The loan actually costs you $219.00.

b) Use the simple interest formula.
I=4A-P

1=13$219.00 — $200.00

1=1%$19.00

I=Prt

$19.00 = $200.00 x r x (5 + 365)
$19.00 =2.7397r

19+2.7397 =r

6.935=r

Convert the interest rate to a percentage.
6.935 x 100 = 693.5%

The annual interest rate is 693.5%.

10. Calculate the total cost of each option.
Option 1:

cost = ($470.00/month x 36 months) + $1000.00
cost =$16 920.00 + $1000.00

cost=$17 920.00

Option 2:

cost = ($691.85/month x 24 months) + $1000.00
cost =$16 604.40 + $1000.00

cost = §17 604.40

Option 3:

cost = ($736.63/month x 24 months)

cost =817 679.12

cost=3$17 679.12

Option Cash payment (3) | Monthly payment Total paid for loan | Total paid for
(%) (3) motorcycle ($)
1 $1000.00 $470.00 $470.00 x 36 = $16 920.00 +
$16 920.00 $1000.00 = $17
920.00
2 $1000.00 $691.85 $691.85 x 24 = $16 604.40 +
$16 604.40 $1000.00 = $17
604.40
3 - $736.63 $736.63 x 24 = $17 679.12
$17 679.12

Option 1 has the cheapest monthly payment but costs the most overall.
Option 2 is the cheapest overall and has the second lowest monthly payment.
Option 3 has the most expensive monthly payment but does not cut into savings.

Student selection of payment option will vary depending on circumstances.
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PRACTISE YOUR NEW SKILLS |

1. Pierre wants to open a bank account at the Atlantic Bank of Canada. He has
$900.00 in savings. His monthly paycheque is $1800.00 after deductions.
His monthly expenses are $1500.00. He is saving $300.00 a month to buy a
car. He estimates that he will need to write about 4 cheques a month and use
his bank card for about 14 transactions. Using the Atlantic Bank of Canada
account information on p. 96, calculate Pierre's likely service charges for two
months for each of the four account types.

2. Indicate which banking service can be used to complete each of the
transactions listed below. Banking services are: bank card, online banking,
bank teller, ATM, and cheque. Mote that a transaction can be completed
using more than one method.

« pay bills « purchase items from a store
= buy travellers cheques + deposit paycheques

«  withdraw cash « obtain foreign currency
 deposit cash or cheques « check the account balance

« transfer money between accounts

3. Wendy has $3000.00 to invest at 3.00% per annum simple interest. How
many months will it take her to earn $60.00 interest?

4. Raul purchases a snowboard by getting a simple interest loan from a store.
The snowhoard costs $800.00, and the interest rate on the loan is 10.00%.
The loan is to be paid back in 12 equal monthly installments over 1 year.

a) Calculate the amount of interest paid over the year.
b) Calculate the total amount to be paid back.
¢) Determine the monthly payment amount.

5. An investment of $1000.00 is made with interest at 4.25% per annum
compounded annually for 3 years.

a) Calculate the interest earned and the investment value at the end of
each compounding period.

bl Calculate the interest earned after 3 years.

6. How long will it take for an investment of $5000.00 to double if the annual
interest rate is 2.00% per annum?

7. When Elena was born, her grandmother invested $4000.00 to be used
for Elena’s college tuition. How much will the investment be worth when
Elena is 17 if the interest rate is 4.50%, compounded semi-annually?





8. Use Henry's credit card statement Bonk of Customer Nama: Henry
ST O
chown here to answer the ATLANTIC Card Number: 999 B283 7777 5678
followi uestions Staternent Date: Oct 4, 2011
me q : CANADA Previcus Statement: 3ep3, 2011
a) What is the total of his
purchases? Transaction date Posting date  Activity description Amaunt ($)
1) What is his unpaid balance PREVIOUS STATEMENT BALANCE $527.55
on this statement? Sep 04 Sep s PRYMENT — THANK YOU -$200.00
Sep 04 Sep 0 BC Ferries $65.00
©) What s the interest charged | g5 g Sep07  Jand NElectronics $245.80
on his unpaid balance? Sep 10 Sep 11 Gas Saver $52.00
d) What will the new The Seafood Factory
. Sep 15 Sep 17 pstautant $105.65
Sep 18 Sep 19 BC Ferries $65.00
el  What will his minimim v .

: Sep 28 Sep 30 Parkn Save $12.50
payment be for this ey c—m— —_—
statement? Payment information Calculating your balance

Minimum payment $ Previous balance §

) How mu.ch credit does he Payment due date Oct 26 | Payments & credits %
have available? Credit imit $4500.00 | Purchases $

9. NMNadine wants to purchase a used Ayvailable credit $ Cash advances §
car for $10 500.00. Her bank Annual interest rate 1950% | Interest $
offers her a loan at 5.00% per Other fees $
annum, compounded annually. MEW BALAMCE §

She has a choice of paying off the

loan over 2 years or over 4 years.

a) Which option is the most expensive each month, and by how much?

Use the personal loan payment calculator table. 3. 8 months
b) Which option is the most expensive overall, and by how much? 4 a) 380,00
c) Explain why Nadine might have to choose the most expensive option. b) $880.00
10. Joseph took his dog to the vet for emergency medical treatment. The bill for &) $73.33
the vet care was $575.00. Joseph doesn't have enough cash to pay the hill,
. o . 5. a)
so he has three payment options. He expects that it will take him 30 days
to repay a loan. Period | Valueat | Inferest | Value at end
. _ . . beginning of period
Option 1: He can pay in installments. The vet will let him make monthly of period
payments of $115.00 per month for 5 months, plus an administration fee 1 $100000 |$4250 | $104250
of $25.00. ? $1030.00 [$44.31 | $1086.81
Option 2: He can borrow the money from his bank on his personal line of : §106090 |$4619 | $1133.00
credit at an interest rate of 5.00% per annum. bl $133.00
Option 3: He can get a payday loan at an interest rate of 1.20% per day. 6. 36 years
Calculate the total cost of each of the payment options. Which option 7 $852340
would you recommend that Joseph choose?
8. a) 5546.04
3| s b) $32755
2
= o 542
d T d) $879.01
E g) 34395
5 f) $362099
2 |w = = R Sl
2] = = =1k = .
52 |g oo 2 o™ B 9. a) The 2-year loan has the higher monthly
e SE |= o=l |aE e = payment, by $218.51
= 0O owm E— = 1l %g = 1l = J tha e
& " % S g S ;%J" E 3 g % S S o s b) The 4-year loan costs $552.00 more than
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